[ Efficiency vs vertpos |
~0.02

YT RS N R— S—

» o . . .

e preeseseness oo

<) I : : :

U s oo

] r N N

0128 L ooerie Feeeeeens e
0.01F |- meeviemeeeeees RRREEIERS REREEREE

0.008F-++++++- B Beeeeeeeend e
0,006 ++--+-e+feeeeeneene. S A—
0.004F ]+ oo S S
0.002f-+++++errieeeeenees S A

....................................

10 0?
TP vertr (cr%)

—=— DQM_original_step2__ptOpltol_etalp6to2p0

Effici —e— DQM_mkFit_step2__ptOpltol_etalp6to2p0
iclend _, DQM_pixelCPETemplate_step2_ ptOpltol_etalp6to2p0

~ 0.1
20.09
o
>0.08
>
2
.90.07
o
£0.06
()
0.05]
0.04
0.03
0.02
0.01 ; ; : :
0 LA | L

-30 - -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~0.05
>
00.045
S
#0-04
$.035
3
£0.03
Q
9.025
()
0.02
0.015
0.01
0.005

0

..............................

IRALRNRARRNRRRLERRRRN LRRL
+

n

Lo [
T L
X 15 corr et
[.. B ™
-10 10 1 20

éim. PV z (cm)



	Contents
	Page 1


